

$(a^x)' = \ln a \cdot a^x$   $e^{\ln y} = y$   
 $\lim_{x \rightarrow 0} \frac{a^x - 1}{x}$   $a^x \approx 1+x$   $x = 1/a$   
 $a^{1/n} \approx 1 + \frac{1}{n}$   $a \approx (1 + \frac{1}{n})^n$   
 $\lim_{n \rightarrow \infty} (1 + \frac{1}{n})^n = e$   $e^x = \lim_{n \rightarrow \infty} (1 + \frac{x}{n})^n$   
?  $\lim_{n \rightarrow \infty} \sum_{k=0}^n \frac{1}{2^k} = \lim_{n \rightarrow \infty} \frac{1 - q^{n+1}}{1 - q} \cdot \frac{1}{1 - q}$   
 $0 < |q| < 1$

3 21-14:01

$e^x = \lim_{n \rightarrow \infty} \sum_{k=0}^n \frac{1}{k!} x^k = \sum_{k=0}^{\infty} \frac{x^k}{k!}$   
denominator 0  
 $\lim_{x \rightarrow 0^+} \frac{e^x - 1}{x} = \lim_{x \rightarrow 0^+} \left( \lim_{n \rightarrow \infty} \sum_{k=1}^n \frac{1}{k!} x^{k-1} \right)$   
 $= \lim_{x \rightarrow 0^+} \left( 1 + \frac{1}{2}x + \dots \right) < e^x$   
 $= 1$

3 21-14:22

$f' = f$   
 $\sum_{k=1}^{\infty} (-1)^k \frac{1}{k} = -1 + \frac{1}{2} - \frac{1}{3} + \frac{1}{4} - \dots$   
 $\sum_{k=1}^{\infty} \frac{1}{k} = 1 + \frac{1}{2} + \frac{1}{3} + \frac{1}{4} + \dots$

3 21-14:30

$c_n = \sum_{k=0}^n a_k \cdot b_k$   $\lim_{n \rightarrow \infty} c_n$  ?  
 $\left( \sum_{k=0}^n a_k \right) \cdot \left( \sum_{k=0}^n b_k \right) \rightarrow \left( \sum_{k=0}^{\infty} a_k \right) \cdot \left( \sum_{k=0}^{\infty} b_k \right)$   
 $\left[ \left( \sum_{k=0}^n a_k \right) \cdot \left( \sum_{k=0}^n b_k \right) - \sum_{k=0}^n c_k \right] \rightarrow 0$

3 21-14:38

$\lim_{n \rightarrow \infty} a_n \neq 0 \Rightarrow \exists \varepsilon > 0 \dots$   
 $\Rightarrow$  ulnarini nelo  $|a_n| > \varepsilon$   
 $\Rightarrow$  ulnarini nelo ledy (1) nelo zj.  
 $\Rightarrow$  Zvisti a cil motaj  $S_n \rightarrow S_n$   
 • arj  $\varepsilon$   
 $\Rightarrow$  neli Cayjovli  
 $\Rightarrow$  neli konvergenti.
 

$\mathbb{R}$

3 21-14:44

$2) \text{ jita } a_i \in \mathbb{R}, a_i > 0$   
 $\lim_{n \rightarrow \infty} \frac{a_{n+1}}{a_n} = q < 1 \Rightarrow$  no vello  $j > N$   
 $a_{j+1} < q \cdot a_j < q^{-(j-N)} C_N$   
 $S_n < \sum_{i=0}^n a_i + C_N \sum_{i=0}^{\infty} \frac{1}{q^i}$   
 $\rightarrow \frac{1}{1-q}$   
 $3) \sqrt[n]{a_n} < r \Rightarrow \boxed{qr < 1}$   
 $a_n < r^n \Rightarrow \boxed{1 < r < q}$   
 $a_n > r^n$

3 21-14:48

$$e^x = 1 + x + \frac{1}{2}x^2 + \frac{1}{6}x^3 + \dots \quad p = 6$$

$$a_n = \frac{1}{n!} \quad \sqrt[n]{|a_n|} = \sqrt[n]{\frac{1}{n!}} \rightarrow 0$$

Defn:  $\lim_{n \rightarrow \infty} \sqrt[n]{|a_n x^n|} = \left( \lim_{n \rightarrow \infty} \sqrt[n]{|a_n|} \right) |x|$

=  $\rho$

$\rho < 1$  conv.  
 $\rho > 1$  div.

3 21-15:10

$$\left| \frac{a_{n+1} x^{n+1}}{a_n x^n} \right| = \left| \frac{a_{n+1}}{a_n} \right| \cdot |x|$$


---


$$1 + \frac{1}{2} + \frac{1}{3} + \frac{1}{4} + \frac{1}{5} + \frac{1}{6} + \frac{1}{7} + \frac{1}{8} + \dots$$

$> 1/2$        $> 1/2$        $> 5 \cdot \frac{1}{8} = \frac{5}{8}$

3 21-15:22

$$\left( \sum_{k=0}^{\infty} \frac{1}{k!} x^k \right) \cdot \left( \sum_{k=0}^{\infty} \frac{1}{k!} y^k \right)$$

$$= \sum_{k=0}^{\infty} \frac{1}{k!} (x+y)^k$$

✓

$|e^{it}| = 1$

$$e^{it} = \underbrace{\left( 1 - \frac{1}{2}t^2 + \frac{1}{4}t^4 \right)}_{\cos t} + i \underbrace{\left( t - \frac{1}{24}t^3 + \dots \right)}_{\sin t}$$

3 21-15:28